

داریم: A

پرتیاب ششیری - تکلیف شماره 14

$$x = -\frac{1}{2} \begin{cases} \xrightarrow{-1^+} \lim_{x \rightarrow -\frac{1}{2}^+} f\left[\frac{x-1}{x}\right] + a\left[\frac{x+1}{x}\right] = f\left[\frac{-1-1}{-1}\right] + a\left[\frac{-1+1}{-1}\right] = f(1) + 0 = 1 \\ \xrightarrow{-1^-} \lim_{x \rightarrow -\frac{1}{2}^-} f\left[\frac{x-1}{x}\right] + a\left[\frac{x+1}{x}\right] = f\left[\frac{-1-1}{-1}\right] + a\left[\frac{-1+1}{-1}\right] = f(1) + (-a) = f-a \end{cases}$$

(سوال 1)

$$\rightarrow \left[\frac{a}{x}\right] = \left[\frac{1}{x}\right] = 0$$

$$\lim_{x \rightarrow (\frac{\pi}{4})^-} [x \sin x - 1] \rightarrow x < \frac{\pi}{4} \rightarrow \sin x < \frac{1}{2} \rightarrow x \sin x < 1 \rightarrow x \sin x - 1 < 0$$

(سوال 2)

$$\rightarrow \lim_{x \rightarrow (\frac{\pi}{4})^-} [x \sin x - 1] = \lim_{x \rightarrow (\frac{\pi}{4})^-} [-] = -1$$

$$\lim_{x \rightarrow -\frac{1}{2}} [x^2 - x] = \lim_{x \rightarrow -\frac{1}{2}} [x(-\frac{1}{x}) - (-\frac{1}{x})] = \lim_{x \rightarrow -\frac{1}{2}} [-1 + \frac{1}{x}] = \lim_{x \rightarrow -\frac{1}{2}} [-] = -1$$

(سوال 3)

$$\lim_{x \rightarrow (\frac{1}{2})^-} \frac{1-x-\Delta + [\frac{x}{\Delta}]}{1-x - [\frac{x}{\Delta}]} = \frac{-\Delta - \Delta + 1}{-1 - 1} = \frac{1}{-2}$$

(سوال 4)

$$x < -\frac{1}{2} \rightarrow x^2 > \frac{1}{4} \rightarrow \frac{x}{x^2} > \frac{1}{x} \rightarrow \frac{x}{x^2} > 1 \rightarrow \left[\frac{x}{x^2}\right] = 1$$

$$x < -\frac{1}{2} \rightarrow x^2 > \frac{1}{4} \rightarrow \frac{x}{x^2} > \frac{1}{x} \rightarrow \frac{x}{x^2} > 1 \rightarrow \left[\frac{x}{x^2}\right] = 1$$

$$\lim_{x \rightarrow 1^+} \frac{\sin^2 \pi x}{[x] + \cos \pi x} = \frac{0}{1 + (-1)} = \frac{0}{0} \quad \text{L'Hôpital} \quad = \frac{1 - \cos^2 \pi x}{1 + \cos \pi x} = \frac{(1 + \cos \pi x)(1 - \cos \pi x)}{1 + \cos \pi x} = 1 - (-1) = 2$$

(سوال 5)

$$x > 1 \rightarrow \pi x > \pi \rightarrow \sin^2 \pi x < 1 \rightarrow \sin^2 \pi x = 0$$

$$x > 1 \rightarrow \pi x > \pi \rightarrow \cos \pi x < -1 \rightarrow \cos \pi x = -1$$

$$\lim_{x \rightarrow -1} \frac{\sqrt{x^3} - \sqrt{x+1}}{1 + \sqrt{x}} = \frac{0}{0} \xrightarrow{\text{L'Hôpital}} \lim_{x \rightarrow -1} \frac{\frac{3}{2}\sqrt{x} - \frac{1}{2\sqrt{x+1}}}{1 + \sqrt{x}} = \frac{(\frac{3}{2}\sqrt{-1} - \frac{1}{2\sqrt{-1+1}})}{1 + \sqrt{-1}} = \frac{(\frac{3}{2}(-1) - \frac{1}{2})}{1 + (-1)} = \frac{(-\frac{3}{2} - \frac{1}{2})}{0} = \frac{-2}{0} = \infty$$

$$\lim_{n \rightarrow 1} \frac{y_n - \sqrt{y_n + 2}}{y_n - \sqrt{y_n + 1}} = \frac{0}{0} \xrightarrow{\text{L'Hôpital}} \frac{y_n + \sqrt{y_n + 1}}{y_n + \sqrt{y_n + 1}} \cdot \frac{y_n + 2 + \sqrt{y_n}}{y_n + 2 + \sqrt{y_n}} \cdot \frac{(f_n' + y_0 + y_1 x - f_n x)(y_n + \sqrt{y_n + 1})}{(f_n' - y_n - 1)(y_n + 2 + \sqrt{y_n})} \quad (VJ)_{200}$$

$$= \frac{(f_n' - y_n x + y_2)(y_n + \sqrt{y_n + 1})}{(f_n' - y_n - 1)(y_n + 2 + \sqrt{y_n})} \cdot \frac{(y_n + 1)(f_n - y_2)(y_n + \sqrt{y_n + 1})}{(y_n + 1)(f_n + 1)(y_n + 2 + \sqrt{y_n})} = \frac{(-y_1)(y_2 + y)}{(-y')(1f)} = \frac{y_1}{1} \times \frac{f}{y} = \boxed{y}$$

$$\lim_{x \rightarrow 0} \frac{x + \sqrt{b+c}}{x} = \frac{0}{0} \rightarrow x + \sqrt{c} = 0 \rightarrow x = -\sqrt{c} \rightarrow x = -c \quad (1) \text{ New}$$

$$(14) \text{ (ii)} \rightarrow \frac{a^x - bx = c}{(11)(a - \sqrt{bx+c})} \xrightarrow{a^x = c} \frac{-bx}{(11)(a - \sqrt{bx+c})} = \frac{-b}{a - \sqrt{bx+c}} \xrightarrow{11=1} \frac{-b}{a - \sqrt{c}} = \frac{1}{f} \xrightarrow{a = -\sqrt{c}} \frac{-b}{ra} = \frac{1}{f}$$

$$\rightarrow b = \frac{1}{r}a, C = a^r \rightarrow \frac{ab}{C} = \frac{a \times \frac{1}{r}a}{a^r} = \frac{1}{r}$$